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m2 51 1,132 57, 732
B Lasy)-h 18-8-40 (Fi47) #E 10c m
m2 51 3,276 167, 076
avp)-p 24-12-40 (G 47)
m3 102 26, 036 2,655, 672
avp)-p 24-12-25(20) (%)
m3 163 26, 036 4, 243, 868
k581 SR235 ¢ 9
t 0.01 192, 778 1,927
k581 SD345 D13
t 1.39 175, 994 244, 631
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[E L22imE e A




N 2

EHL

I

THEX Sy - TAE - FRAI - f50 oK B B B A B AN & # WE (GBS
A — AR
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m 98 20, 167 1,976, 366
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m3 402 33, 649 13, 526, 898
A - SLAR (Wede) A RC-40
m3 62 3, 208 198, 896
Sl =
m3 1,200 691. 830, 160
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m2 88 3, 254 286, 352
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m3 8 41, 352 330, 816
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MG B LT
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m3 56 9, 582 536, 592
TR T
oy 1 322, 056
R a7 -bik (BERR)
m3 56 1, 869 104, 664
ALy a7 -bik (BERR)
m3 56 3, 882 217, 392
% T
oy 1 34, 884, 103
TRUET
oy 1 149, 765
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oy 1 149, 765
ERR T 3-IN
[A1fEH]
oy 1 9, 943, 636
HERATC H300 HEAR & (HLR) 11.5m HEA
YIFTAE 11lm
KN 7 489, 121 3,423, 847
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HEFATC H300 HEAR & (HLR) 11.5m HEA
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HAERATL H300 HEAR & (HLz) 10.5m HEM
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7N 0 215, 431 0
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ES 4 497, 841 1,991, 364
HAERATL H300 HEAR & (HLR) 11.5m HEM
EHFTIAR 8. 1m
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BIFTIAR 7.4m
Z 1 319, 778 319, 778
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TIAK 7.5m
Z 1 243, 597 243, 597
HER#T H300 HER & (BLR) 8m HEH V-
TIAK 7.4m
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4% 0 5, 942 0
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4% 15 6,728 100, 920
AR EEE T
= 1 2, 490, 354
A1 i E i B
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AR B S
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